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Losungen - Binarautomat

Beschreibung in Kurzform

M={ {S0,S51,52,S3}, E={0,1}, 6, SO, {S1} }

Die folgende Tabelle beschreibt die Zusandsubergangsfunktion 6:

0 1

SO S3 S1
S1 S2 S1
S2 S2 S1
S3 S3 S3

From:
https://www.info-bw.de/ -

Permanent link:

Last update: 30.11.2020 17:40

- https://www.info-bw.de/


https://www.info-bw.de/_detail/faecher:informatik:oberstufe:automaten:uebungen:binaer01:lsgdelta.png?id=faecher%3Ainformatik%3Aoberstufe%3Aautomaten%3Auebungen%3Abinaer01%3Alsg
https://www.info-bw.de/
https://www.info-bw.de/faecher:informatik:oberstufe:automaten:uebungen:binaer01:lsg?rev=1606758025

	Lösungen - Binärautomat

